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PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence. Then mark ?
your choice on your answer sheet.

] =She's already had to ............... three painful operations on her leg before rehabilitation.
1) extract 2) expose 3) evade 4) endure

2 _Until the constitution is ..............., the power to appoint ministers will remain with the president.
1) soothed 2) prospered 3) mumbled 4) amended

3 _A very old story or set of stories from ancient times, Ot the stories, not always truc, that people tell about a
famous event or person is referred toasa ...............

1) biography 2) dilemma 3) tempest 4) legend
4 . Because John didn’t take good care of himself, it was ............... that he would get sick.
1) accidental 2) inevitable 3) measurable 4) typical
5 . Angelina Juliewas ............... as a candidate to receive the Oscar for the best actress.
1) anticipated 2) nominated 3) compelled 4) duplicated
6 ~Lawyers are typically ............... to take on such cases which are time-consuming and difficult.
1) reluctant 2) valid 3) frank 4) jealous
7 .1 am surprised that a company with your OO =i Luewabesions would produce such poor quality goods.

2) demonstration 3) convention 4) reputation
the conclusions we have

1) composition
8 ~The reader should trace through these two cases graphically to .................

outlined.
1) deprive 2) penetrate 3) verify

O A SErious ......ccooeeens to the establishment of harmony and peace in the Middle East is the growing
interference of the U.S. and its allies.

4) descend

1) prosecution 2) multitude 3) innovation 4) impediment
10 —She was generally very silent in the class but eventually she managed t0 ............... her shyness in the
class. :
1) underestimate 2) undergo 3) overcome 4) overturn

_ PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each blank. T hen
mark your choice on your answer sheel.

The pioneers of the teaching of science imagined that its introduction into education would remove the
conventionality, ...(11).., and backward-lookingness which were characteristic; of classical studies. but they
were ...(12).... So, too, in their time had the humanists thought that the study of the classical authors in the
original would give up at once the extreme exactness and superstition of mediaeval scholasticism. The
professional schoolmaster was a match for both of them, and has almost managed ...(13)... the understanding of
chemical reactions as dull and as dogmatic an affair as the reading of Virgil's Aeneid.

The chief claim for the use of science in education is that it teaches a child something about the actual
universe ....(14).... he is living, in making him acquainted with the results of scientific discovery, and at the
same time teaches him how ....(15).... logically and inductively by studying scientific method.

v -{) artificiality 2) artificially 3) artiﬁciall 4) artificializing
- -;) serious disappointed 2) seriously disappointedly

3) serious disappointedly " 4) seriously disappointed
. 1) make 2) to make 3 aabing 456 Haking: -
a -1) which 2) in which 3) whose | 4) in where
. ;) thinking 2) to think . 3) think 4) to thinking
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2),
(3), or (4).Then mark the correct choice on your answer sheet.

Passage 1

Encryption software turns readable text into unreadable cipher by applying algorithms that can only be
reversed by the passphrase or key. There are secure forms of encryption and insecure forms, as weak algorithms
can be broken by the same computer power that generates strong algorithms. The current standard adopted by
the US Government is the Advanced Encryption Standard (AES), based on 128-bit blocks. The former standard
known as the Data Encryption Standard (DES) is based on 56-bit blocks and is now considered insecure.

The AES standard was pulled from a larger pool of algorithms that were developed by Joan Daemen and
. Vincent Rijmen of Belgium. Their encryption software is known as Rijndael. Two examples of competing

encryption software in this category include Two-fish and Serpent.

Encryption software like AES, Two-fish and Serpent rely on a single shared password or key and decrypt
data, and for this reason they are known as symmetric schemes. This type of encryption software is used to
secure stored data. It can also be used to encrypt an entire volume or hard drive. To use the drive, one must
mount the volume using a passphrase. When one dismounts the drive, the volume returns to its encrypted state.

Asymmetric encryption schemes use a key pair to encrypt and decrypt data. This type of encryption is often
used in email and other forms of communication. The key pair includes a private key and a public key that are
linked or associated. The public key can be freely given to anyone to be used to encrypt data and send it to the
owner of the public key. Once something has been encrypted using the public key, only the private key of the
key pair, held in confidence by the owner, can decrypt the data. Asymmetric encryption software is considered
more secure than symmetric schemes because the decryption key is not shared.

There are a plethora of encryption programs available online, many free. If you are looking for something to
secure your stored data or for volume encryption, AES-type programs work well. If looking to encrypt your
email, asymmetric programs based on key pairs provide the best security. In the latter case, differing programs
might work with one another in certain cases, but it's probably easier for people new to encryption to use the

same encryption software to ensure compatibility.

16 = Cipher is not:

1) Unreadable 2) Created from texts

3) Creates reverse algorithms using the key 4) Created by encryption software
17 - Which of the below is correct about the encryption standards adopted by US government?

1) AES is less complicated than DES 2) AES replaced DES

3) DES is newer than AES ; ) Both standards are insecure

18 = Which of the below is not true about symmetric schemes?
1) It is more secure than asymmetric encryption methods.
2) Is suitable for securing stored data.

3) Uses one key to encrypt & decrypt data.
4) It was created from the algorithms created by Daemen & Rijmen.

19 =In asymmetric method, ............ ...is used by anyone sending information.
1) The public key 2) Decryption 3) key pair .,/zf) Emails

20 < According to the last paragraph:
1) It is possible to use different softwares for encrypting & decrypting in asymmetric methods. L

2) Asymmetric methods are better than symmetric methods for securing stored data.
3) It is more secure to use different encryption softwares in asymmetric method.
4) Very little encryption programs are available on line.

Passage 2

A CRT (Cathode Ray Tube Monitor) has a large vacuum tube in the back, with a cathode containing a
heated filament pointing forward, toward the viewer. This heated filament becomes an electron gun, firing off

streams of electrons in response to the visual signal it receives from the computer. Ahead of the cathode,
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ringing it is a set of electromagnets which act in response to the same signal. These magnets alter the course of

the electron stream, aiming it.

At the front of the monitor is a glass plate. On the back of this plate are millions of tiny phosphor dots.

These dots are combined into groups of three--one red, one blue and one green. These groups are called pixels.
When the electron stream touches the pixels, the correct combination of the phosphor dots will light up and
different intensities to create any color in the spectrum. The stream passes over the entire monitor at a rate of 50

to 100 times per second to create the continuous interactive image that we see.

~ An LCD (Liquid Crystal Display Monitors) monitor is composed of two specially treated plates of polarized
~ glass pressed together. Between these plates is a liquid crystal material which responds to an electrical current

by allowing different wavelengths of light through at various points across its surface. Instead of creating points
of light, the entire premise of an LCD monitor is to block out the majority of light, to allow only specific
wavelengths, interpreted as colors by our brains, through the front of the monitor. A-backlight emits a
continuous stream of light covering the entire back of the monitor, at all visible wavelengths. '

The electrical current created by the visual signal sent from the computer causes the liquid crystal material to
block out different wavelengths of light across its face to create the general shapes and colors of an image.
Behind the monitor's face but in front of the liquid crystal is an enclosed matrix of transistors connected to
pixels on the screen's face. This matrix is so thin that it appears to be transparent. But when a varying current
runs through it, the same current as the one manipulating the liquid crystal, it causes certain pixels to light up,
adding definition to the overall color passing through from the backlight.

21 . The heated filament ina CRT...............
1) Points toward a cathode.
2) Fires off electron guns.
3) Responds to the visual signals it receives from the computer.
4) Is attached to a large vacuum tube which fires off streams of electron.

22 control the direction of the electrons.

P LR R

1) Vacuum tubes X 2) Cathodes 3) Heated filaments 4) Magnets

23 .How are colors created on the screen of a CRT monitor?
1) The electron stream passes over the screen at a rate of 50 to 100 times per second.
2) The electron strcam lights up the phosphor dots with the required combination.
3) The pixels combine phosphor dots to create any color in the spectrum.
4) The glass plate combines phosphor dots into groups of three that light up with the correct combination &

intensity according to the electron stream.

24 .The liquid crystal...............
1) Blocks out light according to the varying electric current.
2) Creates different wavelengths of light according to the varying electric current.
3) Emits a continuous stream of light that covers the entire back of the monitor at all visible wavelengths.

4) Activates the transistors that are laid in a matrix layer in front of the liquid crystal that lights-up pixels.

25 .. The vision on an LCD monitor is shown by...............
1) Liquid crystal
3) Both liquid ¢rystal & pixels

2) Electric current
4) Pixels attached to a thin layer of transistors
U

Passage 3

he software development lifecycle. Builds are where source files are

Software builds are a core part of t
ool for automating software builds is the Upix "make"

converted into executable software products. The classic t
program, which was invented around 1974 to reduce software build times for C programs on the new Unix

operating system. Make programs decide whether source files need rebuilding by using text Make files that
contain dependency trees; and by comparing timestamps on source files and object files. :

Beginning in the 1980s, integrated development environments (IDEs) began to do software builds of 16E
"project files" themselves. Reducing the need for people to write traditional makefiles for software builds of
IDE project. However, makefiles are still very useful for software build operations that go beyond individual
IDE projects, and so many modern IDEs generate external makefiles for IDE projects. :
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Around the turn of the millennium (2000), a new generation of build manager tools began to emerge, as
people tried to solve the still-present problem of software builds using interactive GUI interface technologies
developed in the 1990s. The trend of developing software on personal computers under Windows played a big
part in motivating the new generation of GUl-interface tools, since the Windows world was a GUI world. unlike
previous decades of Unix system This new generation of GUI- oriented tools helped people to interactively
script and manage build processes using a GUI interface, rather than using traditional makefiles. Instead of
coding lines in troublesome makefile syntax, people could "code" the steps of their build process using more
friendly GUI dialog boxes, and could click to execute various steps in the build process. Especially for
individual programmers, these tools proved quite useful. ‘

Some of the essential goals of a build manager tool are to provide a nicer GUI interface for people, to
provide a more friendly way of specifying build process steps, and to provide additional functionality and
interactive build management convenience through the interface. U
) I R is a core part of software development. 5

1) Unix 2) Life cycle

3) Source files 4) Making source files executable.

27 « Which of the below is not correct about how make files, function?

1} They use text make files.
2) They determine weather source files have used text make files & dependency trees.

3) They compare time stamps on source files.
4) They determine weather source files need rebuilding.

28 =1t can be concluded from paragraph two that:
1) Make files are useful where IDE projects are not concerned.
2) IDEs have always generated an external make file for IDE projects.
3) As of today people write make files for software builds of IDE projects.
4) IDE build softwares replaced make files for all softwares.

29 ~ What does "these" in paragraph three refer to?
1) Friendly GUI dialog boxes
2) Coding the steps of the build process

3) Make files syntax
4) Build manager tools that emerged around 2000

30 = Which of the below is the best title for the passage?
1) Make files : 2) Converting sources files to executable softwares

3) Build softwares 4) How build softwares work?
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#include < iostream.h >

Void main( )

{intnﬁf;Run(n);} ’
Void Run(intn)

{inf i,8: ; .
Cout <« "Runningsumof" ; cout «n ; cout «":" ;for(i=V ;i<=n ; i++){!=s+i scout <"
) Cout «s ; }cout «endL ;}
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